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FOFPLVTFR K HE IRT) T2\ 0.8700 #HH A | (36000) | -31320.0 1 0 13 8 13 1 7 6 52
KEI30 WE % Y30C 0.8250 HHEHHE | (36000) | -297000 | 2 0 11 6 6 17 11 3 51
2)oF—=Y #HE5IVE Y-33S 1.0470 HHEHHE | (36000) | -376920 | 3 0 10 10 10 7 3 9 46
BF Ml B Y-26 IEX-SH 0.8000 s | (36000) | —28800.0 4 0 8 7 8 12 10 0 45
JTATYY EF EZ TARyT21 0.7540 s | (36000) | —27144.0 5 0 3 0 0 14 12 8 37
RUTFY il 1 Y30S I 0.8700 #HEHHE | (36000) | -313200 | 6 0 0 0 0 15 14 7 36
IRAF=F 1 HE #A—ER Hanse375 0.9200 #HHHHAEEE | (36000) | -331200 | 7 0 7 0 12 8 8 0 35
IIFI4UF ¥/ BT TALT4 25 0.7960 #iHHEHHEE | (36000) | -286560 | 8 0 5 5 5 10 1 5 30
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Pa—rISA(F | &K EM | "*xk—77—Zk337| 0.9050 #HHEHHE | (36000) | -32580.0 | 11 0 0 3 0 13 9 0 25
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YIYR £S5 B NURTzyk 0.8650 HiHHEHHE | (36000) | -311400 | 15 0 2 0 3 2 0 0 7
LIyk EB INAA=T9 0.8600 #iHHEHHEE | (36000) | -30960.0 | 15 0 0 0 7 0 0 0 7
778T74—T1 PrE B Y28S 0.8540 #itHHHEE | (36000) | -30744.0 | 17 0 0 4 0 0 0 0 4
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